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2 14 Pl P RIREE | mewn| &4 G
1 Rl 5 kit JEIEE AR BRI 20 2400
2 LR % kit JEIEE NSRS 13 1560
3 XlJ 5 JE T JETH A A 10 1200
4 T*il % tx EERA 20 2400
5 L 5 tx EERA 10 1200
6 o 5 tx Plsien 20 2400
7 ik % TRE g s Atk 9 1080
8 Fix= % INIEE TPHG A F L 14 1680
9 SE 5 NiBE A A R 5 600
10 2235 % K AP FE A5 B i 9 1080
11 fht /8 {07 W55 2 Bk 10 200
12 it 5 FEAL A VUTEE O L B 20 2400
13 T % ERRE N EIR AR 19 2280
14 g % HARE TNBIR AL 12 1440
15 T*5 % HARE ﬁﬁi:&%ﬁ 20 2400
16 Zradfi % ERRE RS R 14 1680
17 P % ERRE RN/ 8 960
18 Zek % s 2 IRCEZS Sy 8 960
19 Zek % s 2 IRCEZS Sy 8 960

20 Sl % W IR R 18 2160
21 Hikgx 5 Feh FEH AR R 10 1200
22 e % it b RSV 8 960
23 ff*z 5 k=5 K=E A SR, 20 2400
24 el 5 K="E WEE A 16 1920
25 Z 5 k=E HE AR, 10 1200
26 ik % ] v ARP/A RS IS 10 1200
27 TR, % B v ARP/A RS IS 7 840
28 b % ] v ARP/A RS IS 12 1440
29 LIPS % B v ARP/A RS IS 13 1560
30 Zex 5 e S FIRE A 10 1200
31 Zatf) 5 e ZIEE A 20 2400
32 Mkt 5 e B AL 7 840
33 T % RIS HOCARE 8 960
34 T % RIS =EOANH: 15 900
ait 50060
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RUERZEH (ML) RERICEER

#e 44 e LH Rl IR &8 G
1 Thxdr % S| BRE AL 20 2400
2 bk % kil BRI AL 8 960
3 ff+ 5 ki R A 6 720
4 SIS % ke R A 20 2400
5 XA % kil JEREE N 7 840
6 pUE 5 FHRE FEE AL 11 1320
7 FxH 5 FHFRE FHE NI 10 1200
8 Wi 5 JE T JE TR AL 20 2400
9 Zex 5 JETA JE TR AL 5 600
10 Xl 5 LR EX N 20 2400
11 Xk 5 LXRE EXRAH 20 2400
12 S 5 [y PERAE At 20 2400
13 Wyt /8 [ PERAEE AL 20 2400
14 [ S b [y VERA AN 4 10 1200

15 FiHE 5 A AL 10 1200
16 XL 5 3 LIPS 17 2040
17 X % BEE EIE-E¥iEsan] 20 2400
18 o L Ul BE=E RN H: 18 2160
19 TR % BEE BE AR 20 2400
20 ALY 5 JNIEE RN 6 720
21 P 5 BT SEAAN 9 1080
22 bk % VAT VAT AR 20 2400
23 HJpL 5 BT EETTA 11 1320
24 Lok 5 E Skl KA 6 720
25 Xy % WA e At 12 1440
26 Xt 5 WA Je i At 8 960
27 el 5 W KPR G A 4 11 1320
28 A5t 5 s Jes i At 8 960
29 e % W PN 7 12 1440
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30 2k I AH: 12 1440
31 A1) IR 11 1320
32 [7E5'8 Bl Atk 6 720
33 P #h 5 Atk 6 720
34 iyl S RPN/ 17 2040
35 Tg5 ZEAARAH: 15 1800
36 s TERE AL 5 600
37 Tt RWAN::/ /N 11 1320
38 BRI k= A, 20 2400
39 Vs HHEEAL 13 1560
40 A KEE A 14 1680
41 Btk TWiE 2 13 1560
42 e E;IE fﬁ}'ﬁ 10 1200
43 VIS KA 17 2040
44 e % S AT 11 1320
45 ey 5 BEE SN 7 840
46 xR % BEHE A 7 840
47 eff; 5 (B /NN 20 1600
it 71200
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5 i 3 Pr RIRC® put £H GO
1 P Ui Bkt JEIEE RN 9 1080
2 s 5 B0 JEFEE BRI, 9 1080
3 2 U Bkt JEIEE RN 20 2400
4 i< 5% ki JEREE AR, 8 960
5 PR 5 Pk YIS AR L, 9 1080
6 HrfE % kil JETEE RNk 20 2400
7 fh 5 ki YIS AR LI, 5 600
8 T % Bk {BSEKN 6 720
9 3L 5 Bkt D A AAERALSE 16 1920
10 =1 5 ki kI A AR 9 1080
11 A 5 kit D N AAERALSE 9 1080
12 Xl U6 % Bkl B A FEAE R 10 1200
13 ey Ui B3kt D N AAERALSE 20 2400
14 Fxil % Bkl B A FEAE R 7 840
15 b Ui Bkt Bkt 4 480
16 e % FRE FRE N 18 2160
17 W+ 9 FRE FAE §- T/ 14 1680
18 FS =D % FHE FHE NI 14 1680
19 ZExl) 5 PAE &= FAE §- 7/ 14 1680
20 ol 5 JH A JEFIE A 6 720
21 Tl 5 JH T JH T 16 1920
22 BR#ER % L% I 13 1560
23 FxlgE 5 [Tk [N/ 7 840
24 S % L% A A 4 15 1800
25 Hes 5 [iTge [N 10 1200
26 Hxil % LK LR ARG 18 2160
27 IS 5 5 LR AL 20 2400
28 ZExR % +x LR ARG 14 1680
29 PULIN 5 5 LRAM 20 2400
30 Lysepk % 1R IRV AAAERLRLE 9 1080
31 W 5 5 SN0 PRI A AL 15 1800
32 Tty %5 1R IRV AAAE R 12 1440
33 PR 5 1R [SWRGRATR TE RN 9 1080




34 Lyseph % St IRV ARG R 17 2040
35 TRt 5 1R [SWEAGRAYR TENRyIN) 16 1920
36 i 5% S| 1 RVA A AR RS, 16 1920
37 IS 5 1R Sl P IRER I 10 1200
38 T 5% S| FIRTE At 6 720
39 Wk 5 e R A A 12 1440
40 il 5 i ARk 2 A 13 1560
41 o 5 e T AR AL 11 1320
42 Jexth % Tw3E 3E N A 20 2400
43 F*fE 5 e R A A 11 1320
44 i« [ % Tw3E 3E A 11 1320
45 Pl 5 e R AR 15 1800
46 pUE % TWIE A bR A4t 13 1560
47 Fa3L 5 e R AR AR 16 1920
48 Wz % TWIE T AR AL 17 2040
49 GEEE U e WA AR 19 2280
50 BeRin] 5 b AR Bk 2 A 16 1920
51 Boebk 5 [l VG 11 1320
52 HreA 5 A T At 13 1560
53 Xl 5 Hiti VOB Atk 13 1560
54 Hix [N 5 AN VA AL 6 720
55 i)™ 5 BEHE B E A 14 1680
56 T % EEHE EEE N 9 1080
57 i 5 B B E AN 9 1080
58 s % HEHE W E A 10 1200
59 ol Ui B B E AN 8 960
60 e % GiPS oA 17 2040
61 Bt 9 LIPS AL 5 600
62 T % GEPS O AR ML 17 2040
63 e U LIPS LIPS 5 600
64 Fx[E 5% EIES ok 5 600
65 E25' % JE=E R AE A AL 20 2400
66 Dff S BE=E JE=E N 12 1440
67 A g = RINAFEAAL G 20 2400
68 ISV % E=E RN AR 20 2400
69 Fxk 5 E=E BV ARE AL AL 10 1200




70 Zx % E=E RIARE A ALk 20 2400
71 ISy U JE=E RV GRS 16 1920
72 Kl % BE=E RIS RAL 3 20 2400
73 G X 5 = R =R L 20 2400
74 IS % =8 JE = E ARG 20 2400
75 i 5 = JE =B R AL 20 2400
76 Tk 5 = J =B R 20 2400
77 [ 5 B=E BIACE Atk R LS 12 1440
78 FixRL % E=E KA FE AR 3 20 2400
79 Fx Ui =5 RINA ARk 13 1560
80 EX3' % BE=E JE = E AR 20 2400
81 [ 5 E=E =B AR LS 20 2400
82 yseFk % B=E JE=E AR 20 2400
83 Flesx 9 JE=E RIVAL 20 2400
84 7Sy % E=E B 2 ML 13 1560
85 el 5 = =B AL 16 1920
86 Sy % = JE=E AR LS 17 2040
87 Wil % H=E RIAFEAAL G 15 1800
88 P % BE=E RINAAEAE L5 20 2400
89 Zx % CHEY= RIARE 2 R Bk 15 1800
90 i 5% B=E KIS AR 20 2400
91 et 5 E=E RIAE AL 19 2280
92 SR % B=E i =E AR L 20 2400
93 kL 5 E=E JE B AR AL 20 2400
94 SR % JNIEE AR Atk 10 1200
95 SRES 5 INIEE JNIEE AL 9 1080
96 ik % NIk JIEE AFEAERAL S 5 600
97 SEEES U INIEE JNIEE NAEAERALSE 11 1320
98 ik %5 INIEE JIKE AR LS 8 960
99 ik 5 ] =@EOAH 7 840
100 ExfF 5% A =E ANt 7 840
101 ) 5 BT =EOAH 12 1440
102 FHT 5 ! VT AR 20 2400
103 Fh 5 ] BT A 8 960
104 Tk E % eraT T AR 12 1440
105 iz 5 NPH AP FE A HE R S 17 2040




106 W %5 PN P REA HEAE R 14 1680
107 pULES 5 K HE K HE AR 14 1680
108 T 5 K K FE AR R AL, 14 1680
109 Fh 5 KPR K HE AR 15 1800
110 EISP 5 K R FE ARV Sl 14 1680
111 G 5 NPHE AP FE A A AL S 14 1680
112 HEEK % R FTERKELA 11 1320
113 Zk 5 NPHE K EAL 14 1680
114 E23 5 ESE PNEPAY 9 1080
115 IR 5 e KA 5 600
116 el 5 I PNEPAY 13 1560
117 Zesf Ui IH |ERERAT R iRy N 16 1920
118 Jyxdr % A IHTE 2 SR L 13 1560
119 Mok i 9 Wi b B Bl A RIS 10 1200
120 FxEn 5 N KI5 At 8 960
121 FoaE 5 W DR AREAR LU 7 840
122 st % ik KT8] 53 A AL AR 8 960
123 Xijx3E 5 Wi JeE At 12 1440
124 T % ik DR 7 840
125 X1J[8] 5 Wi DRF AL 8 960
126 fhex[H % Wik IR 8 960
127 PUESS 5 Wi DRF AL 7 840
128 R 5 et T Atk 10 1200
129 Zx ] 5 Feh FeHL AL 11 1320
130 Xl 5 i Tt At 10 1200
131 Fox Ui Feth FedL AL 11 1320
132 i % Fie e A 20 2400
133 gk 9 Feh Fed AL 11 1320
134 Zsif % TieHh TeHh A 11 1320
135 JIEIH 5 it Tl Akt 11 1320
136 Extp % JicHh T AR 11 1320
137 Jix 5 it e A4t 11 1320
138 Ak, 5 e FeHb AL 12 1440
139 X 5 Feth Feh 8 960
140 Ty A % Fie b1 9 1080
141 Fh) 5 Feth Fed At 10 1200




142 T % e Tt A AR 3 9 1080
143 [t U Ti5 W At 15 1800
144 Bt % g 57 At 20 2400
145 B % 0 W At 14 1680
146 Fix % T3 53 AL 6 720
147 W1 5 W s A4 6 720
148 JrxE % T3 B3 A AL HEHLA 16 1920
149 Fx 5 Wbt TR A K 20 2400
150 PUEES 5 WAL MU T8 A 19 2280
151 e 5 RE LA DUEE AL 20 2400
152 Hl 4 5 Bl FER AR 20 2400
153 AR 5 RE LA A5 A A 20 2400
154 TR & R AL JHHE A 5 600
155 g 5 Wl i AL 20 2400
156 i 5 [E3EA 1EH At 15 1800
157 Jeid 5 RE LA [H 4 5 600
158 it 5% Bh Bh I At 12 1440
159 Al 5 P A Atk 11 1320
160 E=3'8 5 L BEE AL 12 1440
161 ol 5 HRIE =@OaH 9 1080
162 Bt 5 L A RPAY 9 1080
163 LIC] 5 5% HEGE A RIS 7 840
164 B % 5 5K ki 5K AL ARG 12 1440
165 i 5 % HES G R AL E 7 840
166 ) % HRE HARE At 14 1680
167 (35! 5 R BB S AL 12 1440
168 Frefy % HARE FNHIR AT 3 360
169 Mo U AR HARE At 6 720
170 A g8 HARE HNBIK A 5 600
171 Tifg 5 RS HRRE Atk 8 960
172 Btk 5% HRE RS AR L 10 1200
173 Zxllf] 5 RS TNHEIRAH: 5 600
174 Zeactf 5 BRIE I NEIR AL 9 1080
175 T 5 B BERRE AL 6 720
176 oo % HARE HE At 8 960
177 B % RS WAl BAEH B LG 10 1200




178 P % HRE R AL EL AR L 8 960
179 L] U RS TN AR 6 720
180 ZExT % HARE FNHIK AR 4 480
181 Xl 5 RS TN AR 8 960
182 UL % HARE FNHIR A 10 1200
183 Hi«r 5 k=8 k=8 AR AL 20 2400
184 i3 5 K=F JBHE AR LS, 11 1320
185 Tox 5 K=" Ik =E A AR 20 2400
186 Kl ARf % w=E JEFE AR AL 15 1800
187 Wt Ui K= TR A AAERALSE 20 2400
188 Tk % w=E K =E A FEAE RS 20 2400
189 Fox Ui K= T FE AR AL 13 1560
190 TA % K= Tk =E A FEAE RS 20 2400
191 JEAZ U K= T AR AL 15 1800
192 JE+EE %5 b =%=1 JEFE AR AL 14 1680
193 it E/8 K=E HWEE AR 15 1800
194 fihegs % K= Tk =E A FEAERALS 19 2280
195 A 5 k=g gk =g AR AL 20 2400
196 Mrsety % [ S=%=1 TEIE AR AL 8 960
197 2 5 K= K=E A 18 2160
198 pasail % =1 BHE N 11 1320
199 ZEx1l) 5 k=4 TR =E A AL, 20 2400
200 Zf % HWEE ZIEE M 13 1560
201 Xif 1L Ui ERe RN 14 1680
202 Xl % i g RN 13 1560
203 fif=Tc Ui e RN 14 1680
204 Koo % AL MIE Atk 10 1200
205 Hxl 9 e MIRE AL 12 1440
206 i % KL TV AL 14 1680
207 TR 5 I AR PR L 20 2400
208 X 5% HARE HRE At 16 320
209 i 5 JE=E =B A AL 20 1600
= 320760




